Distances in this question are given in metres

Two brothers, Orville and Wilbur are testing their model airplanes. The position of Orville's airplane t
seconds after taking off from ground level is given by
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a) Find the height of the plane after 4 seconds.

b) Wilbur's airplane takes off after Wilbur's airplane s seconds after taking off fis given by
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Find the angle between the two paths.

c) The two airplanes collide at (-20,13,24). How long after Orville’s airplane takes off does Wilbur's
airplane take off?

d) Find the speed of the two airplanes at the moment of the collision.
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